20 min. gif


Some explanations re. 20 min.gif.
The whole thing assumes a lot, but it should show, what is possinle, and what not.

Assumptions:

Aircraft speed: 

average, over ground, calculated here at 360 kts, 6 nm / min, except for the last three minutes, here a speed of 200 kts was used.

Rate of descend:

three average rates are used and are represented by their resp. lines, 1.000 ft/min, 1.500 ft/min, and 2.000 ft / min, 

Radio line-of-sight:

Two lines calculated, antenna height of ground station GBY assumed at 350 ft and 450 ft above mean sea level. 
The Gov. MRU map of the island does give some height info re. terrain, but the shading representing various heights is not very clear. Pls. see attached excerpt from that map. The height in ft is taken from info given in fallingrain.com, listing weather stations. The terrain near Grand Baie and GBY is from 0 to 360 ft.
From my obs., DME/VOR stations are about 10 m (30 ft) high, but I have no info about this particular station.

Below these lines no communication, voice and DME would be possible.

According to the approach chart, the VOR/DME at GBY is also used for VHF communication, otherwise it would be indicated on that chart that this is not so. Thus I assume he had tuned in to GBY for comms, and to get DME values, since he was cleared to approach directly via “FF”.  “ We haven’t got the DME yet ” I understand, he expected to get some readings anytime soon.
The earth is here drawn as being flat, so the LoS must be slightly curved up-wards. Points were calculated at several distances from station GBY, geo coord. taken from DCA-MRU publications. 

Ocean current:

although the currents vary in strength at different depths as we had observed, I assume an average of 1 nm/hr from surface to sea floor, overall it should be quite accurate.

